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1 42a 15 30 200 | 3050 10 1 — pRp 8
N 426 15 30 200 | 45--100 10 1 = pop ] Sehalliransistor | g
Mais A 15 5000 10000 =20 = 015 - npn 2
12135 45 5000 10000 | =40 — 0,15 - npn 12
nmzuup 60 5000 , 10000 =20 = 0,15 = npn 12
1n2ur 60 6000 10000 >20 — 0,15 - npn 12
e H 35 7600 21000 | 10 - 0.1 - npn 12
Im2esB 35 7500 24000 30 - 0.1 = npn 2
neaer 80 7500 24000 5 o 0,1 - npn 12
26 il 1] 7600 24000 15:-:30 = 0,1 = npn 12
naz e 60 7 24000 | 1540 - 0.1 : npn 12
nm27r 60 7 24000 =18 = 0,1 - npn 12
11 423 10 10 50 30---100 1 120 10 pap 4
TT 804 30 10 150 10:+-356 - =20 = npn b
T504 A 30 10 160 | 2580 - =20 — npn Siliztum-HF- [
11 805 20 10 1650 40---160 - =20 — npn Transislor b
TL 806 A 2 10 160 20-+-00 - =20 = npn b,
I 6o 15 200 1600 | 20.-.80 100 100 - np (]
11607 A 156 200 1500 | 60---200 100 100 = pRp 8
11 o008 16 200 1500 20,80 100 100 - ponp HF-Leistungs- (]
11008 A 16 200 1500 | 60---200 100 100 - pap Iranslsior (]
1 000 16 200 1500 | 20--80 100 100 - pop (]
Homwa 15 200 1500 | 60---200 100 100 - pop { o
1 702 70 2000 4000 25 1000 4 = npn Bllixium-HF-Lel: 7
MzA 70 2000 4000 10 1000 4 - npn stungsimanslstor 7
MII37A 30 20 150 15--30 1 1 - npn 8
MII37B 30 20 150 25--80 1 1 - npn 8
AITT 38 A 16 20 150 45-100 1 2 - npn 8
NI 3O 20 20 150 20.-60 1 0,5 = pnp spezlell fiir 8
MIT 40 20 20 150 20--+40 1 1 - pap Fernachgerile 8
AN 40A 20 20 150 20---40 AL 1 = pop 8
MO0 20 20 160 80-60 1 1 = np 8
MIdaa 29 20 150 50---100 1 1 - pbp 8
IT108 A 16 10 75 2050 1 (0.5) - ] Miniaturtran- 1
I'T 108 5 16 10 7w 85---80 1 m - pop siatorfiir Untez-] 1
Friss 15 10 T 80130 1 m = pop hallungs- 1
IT108T 16 10 75 110-250 1 m = pop tloktronik 1
IT108A 15 20 30 20---50 1 1 - pnp .q
I'T100 B 16 20 30 3680 1 1 o pnp
IT100B 15 20 30 00--130 1 1 —~ | pop Minlatur. 9
TT100T 15 20 30 110-:250 1 1 = pap transistor 0
1710011 15 20 30 20---70 0.1 3 - pop 0
TTI9E 15 20 30 50++-100 0,1 5 - pap 0
I'T 308 A 20 50 150 20--70 10 >20 8 pap 4
1T 306 B 20 50 150 50---120 10 >20 8 pap 4
I'T308 B 20 50 150 80---200 10 >20 8 pop 4
I'T 300 A 10 10 50 20270 1 =20 = .pop 2
TT300B 10 10 50 60--180 1 =20 10 pop Sk 2
1'T 300 B 10 10 50 20-..50 1 =20 - pop " ';” 2 2
TTsmT 10 10 50 00---180 1 >20 10 pap bt 2
1T 300 J{ 10 10 80 | 20--70 1 =20 — pap 2
TTsmE 10 10 B0 | 60180 1 =20 = pop 2
TT310A 12 10 20 20---70 1 >20 3 pop ]
3105 12 10 20 60---180 1 >20 3 pnp 0
I'TS10D 12 10 20 20---70 1 =20 4 php Minlatur- 9
ITa0T 12 10 20 00---180 1 =20 4 pop Iransiator 0
ITsioll 12 10 20 20---70 1 >20 ] pnp ]
I'TSI0K .12 10 20 60---180 1 =20 4 pap ("
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T3 A 12 20 150 15---180 16 100 — npn 11
IT3L B 12 20 150 30---180 16 100 . npn 11
rrsne 12 20 150 15560 16 100 - npn 1
rranr 12 20 160 30---80 16 100 - npn 11
rrsnj 12 20 150 00180 156 100 - npn 1n
IT3I3A 16 10 100 20250 b >300 — pop 1
I'T31s B 16 10 100 20.--250 1 > 450 - pop 1n
I'T320A 20 160 200 2080 10 130 — pop 4
I'T3206 20 160 200 50+--120 10 200 = pop 4
IT3208 20 160 200 80-.-250 10 200 - pop 4
I'T701A 60 12000 50000 10 5000 0,06 == pnp L]
ET 601 A 100 80 500 16 10 40 - npn Planartransistor L]
ET801 A B0 2000 5000 1850 1000 10 - npn 10
ETE01 B 60 2000 5000 20100 1000 10 = npn 10
KR A 160 6000 50000 16 2000 10 - npn Planartranatstor 7
i far Fe-Geriite

1T303 A 12 10 100 1550 - >20 - npn 4
1T303 6 12 10 100 30-+80 - >20 = npn 4
1T303B 12 10 100 00---100 = =20 - npn Germanium- L)
1Tl 12 10 100 16-+-50 - >20 = npn HP-Translstor 4
1T 308 0 12 10 100 30---80 = >20 = npn 4
IT303 B 12 10 100 60---1860 - >20 — npn 4
LT 308 A 20 o0 150 2576 = 0 - pup 3
1T 308 6 20 50 160 650--120 - 120 - pnp 3
1T308 B 20 50 150 g;ﬁ = Ig - pop :
1T308T 20 60 150 100 = 1 - ponp
1T 403 A 45 1250 - 20---80 100 {0,008} 6 pup | Mo In°C/W 15 | 10
1T408 6 4% 1250 - 50---150 100 [0,008) - pop 1B 10
1T403 B [ 1250 - 20--60 100 [0,008] - pnp 12 10
IT403 T 00 12:0 - 50---150 100 [0,006) = pnp 156 | 10
1T 408 JT 00 1250 — 50--+150 100 [0,000) o pop 15 10
IT403 E [ ] 12560 - >30 450 [0.008] - pop 12 10
1T 4087K 80 1250 - 20---80 100 [0,008] - pnp 156 | 10
1T 403 I 80 1200 - 60---160 100 {0,008 - pnp 156 10
27301 . 10 10 160 2080 - 30 — npn 2
2T 301 A 10 10 150 40---120 - 30 - npn 2
2T 301 B 10 10 150 1032 - 30 - npn 2
2T 301 B 10 10 150 20---00 _ 30 - npn Silizbum-11F- 2
2T 30T 10 10 160 10--32 — 30 - npn Tranaistor 2
27301 11 10 10 150 20---00 = 30 - npn 2
a7 301 B 10 10 150 40--120 —_ 60 -— npn 3
27T 3017 10 10 160 &0 = 60 - npn 2



